Q.2 If there was a general election tomorrow, which party would you vote for?
Base: All respondents expressing an intention to vote

Weighting: Turnout Weights
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Fieldwork : Auqust 25th-28th 2007

Absolutes/col percents

Gender Age SEG Region Voting Intention
Wales
North & Con-

South  Mid- Eng- South  Scot- ser- Dk/
Total _Male Female _18-24 _25-34 _35-44 _45-54 _55-64 65+ AB C1 c2 DE East _lands land West land _vative Labour LibDem _ Ref
249 281 32 87 89 101 99 121 193 102 103 133 143 134 131 70 53 185 215 73 -
252 272 46 82 90 96 83 127 143 149 113 119 140 135 128 70 50 187 192 84 -
87 100 12 24 27 33 27 64 52 63 34 39 68 58 34 22 4 187 - - -
34% 37% 26% 29% 30% 34% 33% 51% 37% 42% 30% 32% 49% 43% 27% 32% 8% 100% - - -
92 100 21 33 40 32 31 34 57 46 46 42 43 49 58 22 20 - 192 - -
36% 37% 46% 41% 44% 34% 38% 27% 40% 31% 1% 36% 31% 36% 45% 31% 40% - 100% - -
41 43 8 10 13 16 16 21 21 21 18 23 20 19 28 13 3 - - 84 -
16% 16% 18% 12% 14% 17% 19% 16% 15% 14% 16% 20% 14% 14% 22% 19% 6% - - 100% -
8 10 * 4 3 5 4 1 2 5 5 5 - - - - 18 - - - -
3% 4% 1% 5% 3% 5% 5% 1% 2% 3% 5% 5% - - - - 36% - - - -
3 3 1 - 1 1 2 2 1 3 1 2 - - - 6 - - - - -
1% 1% 2% - 1% 1% 2% 2% 1% 2% 1% 2% - - - 9% - - - - -
6 12 1 7 5 1 * 2 4 7 4 4 3 3 5 4 3 - - - -
2% 4% 3% 9% 5% 1% * 2% 3% 4% 3% 3% 2% 2% 4% 6% 5% - - - -
4 * 1 1 - - 1 * * 1 * 2 * 2 1 * - - - - -
1% * 2% 2% - - 2% * * 1% * 2% * 2% 1% 1% - - - - -
9 1 - 1 2 4 1 2 2 4 3 1 5 3 - 2 - - - - -
4% * - 1% 2% 5% 1% 2% 1% 2% 3% 1% 4% 2% - 3% - - - - -
1 - - - - 1 - - 1 - - - - - - - 1 - - - -
* - - - - 1% - - 1% - - - - - - - 2% - - - -
1 1 - 1 - - - - 1 - - - - - - - 1 - - - -
* * - 2% - - - - 1% - - - - - - - 3% - - - -
1 1 1 - 1 - - - 1 - 1 - - - 2 - - - - - -
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